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Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Subject Name : CHEMICAL SCIENCES
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
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Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
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Show Watermark on Console? : Yes
Highlighter : No
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Group 1

Group Number : 1

Group Id : 51714481
Group Maximum Duration : 0

Group Minimum Duration : 180
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Edit Attended Group? : No
Break time : 0

Group Marks : 300

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Paper 1



Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 1 Question Id : 51714412176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which learning style is associated with understanding information through

patterns and relationships?

o) 7R 38 Dirare Frofiarse WP DAPTPTRR)) @go TS5t

exnaohodadnd?
Options :
Visual
1. ® CSE\"%‘“S
Auditory
2. ® (55
Kinesthetic
853,88
3.9
Logical
4% wﬁ&é

Question Number : 2 Question Id : 51714412177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

517144161
1

Online
Mandatory
42

42

100

Yes

0

1
517144496
Yes

null



In a traditional lecture-based classroom, who primarily controls the flow of
information?
FORDTEDE GO0 el S5K8 KOS LEras [BaeeieR)) DADOBoHiDe HL?

Options :

Students

g)m“ﬁfjjﬁ}.]
1. % =

Peers
) % B>

Educational technology

IS 4
v Ao FoEdES

Teacher
4 esﬁeééatﬁo

Question Number : 3 Question Id : 51714412178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How do support materials contribute to effective teaching?
éacge:&n émucge_n ;.’aéag 555 e H5eEBTon?
Options :

By replacing the need for teacher involvement.
% S5 Hhoh eS80 3,‘5_55 Sc50es Ape

By providing a distraction-free environment.
. éiﬁqrog)i‘éoéﬁ} arerddeso EOR0LDE trgoe

2.
By facilitating varied learning experiences.

3 @ D3 egrgd eidgraroih hegiddo Sc5ne Aol
By automating assessment and grading.

A HB0), MG 2xobo @redo Scsnes AN e

Question Number : 4 Question Id : 51714412179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The term "elective courses” in a choice-based education system refers to
courses that:

o)0DE esgreds é’.]csoéa’}g@fﬁﬁ am&ﬁ gBE_{DJED oo S O EE‘c‘fq:JED
Options :

Are mandatory for all students
0% ﬂ@“éﬁ%ﬂéj ENLISS]

1. #
Are chosen by teachers for students
Deeghe BB Fsodn doDE T

2. % p: -
Students can choose based on their preferences
Dergthen aed ([@Rgrigde ooe dows Py o))

- 2% 2 e
Are only related to physical education and sports
FBBE D, Bod SrED HonoHoIH

4, %

Question Number : 5 Question Id : 51714412180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of ICT-based |learning tool?
& BIHS A6 HB ICT-aprds earnd HBESSD

Options :

Whiteboard and marker
@géﬁﬁﬁg visle RV eYle))

Chalk and blackboard
D8, 89 f)’siﬁgj

Printed textbook
SeBoDS aroegod HREED



Educational software on a tablet

¢ge5 2 Doy DSH R0
4, % Gl =

Question Number : 6 Question Id : 51714412181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Why is "replicable" an important feature of research?
(28875 @0Hs dothider 508855 SngegsEn

Options :

It allows researchers to keep their methods secret.
0 H0808%en S5 E'Jgéaﬂsﬁj BaPrxomr 60dtrd8 &Hamraieéod

It ensures that research findings are applicable only to specific cases.
E°). @’33§§ Bhed? drEd 588 ittt HBoBkky SPH0k

2. ¢
It allows other researchers to repeat the study to verify the results.
@8 a88 HB&8EHen 8 HDaro HBSrHOD egahido &6A

- Josmeroden EDyn0b
It prevents other researchers from using similar methodologies.
=288 58885500 wenHod éiéé’a}a}ﬁn Pvidat=yeln ?\?155@‘5)}_905

4, ®

Question Number : 7 Question Id : 51714412182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Post-positivist researchers are more likely to:
@ﬁ% @ﬁﬁéﬁn‘ﬁ% 58555%en &) Dogradsore
Options :

Completely disregard quantitative data

- Frbre HberdE Saroaed)) APEe Bkt



Focus solely on subjective experiences

s&)3dh edgraroy K e
2. % -

Acknowledge their own biases and limitations in research
56885588 S5 08 DEarered, H6ddHed 8D

3.¢
Reject the need for peer review and validation
&Barh ‘égbé, cﬁaﬁéfﬁwm ©DITR) BEHBIE
4, %

Question Number : 8 Question Id : 51714412183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The APA referencing style is primarily used in which academic disciplines?
APA 8588010 3D rgrorsmort & dueghonod FKos’ &HGrATRS

Options :

Social sciences

- POGDE Folen

Natural sciences

5 w  RarE Fo|Jeen

Engineering

3 ¥ mo02DB0in

Medicine

Question Number : 9 Question Id : 51714412184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



How can ICT assist in the literature review process during research?
£8855:56° (o5 DEES ICT ey H:EB0S Keth?

Options :

By providing opportunities for plagiarism
& (Ko TEgndH edsearen Oy

1. ®
By allowing researchers to skip the literature review phase
% HBS e Kol égbg S8 méﬁéa@ Sasne e
2. %
By offering access to online databases and academic journals
., & ©i8S S0l Fdoren, DogHBEedH (H3Fo EDoDe Troe
3.
By replacing the need for citations and references
odBparen. (HarBen, @DHTRY CrfaFnlovantow e
4, %

Question Number : 10 Question Id : 51714412185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the function of an "Appendix" section in a thesis?
58800 aﬂgﬁjmfﬁﬁ "©20885) " Darissh DY 8o

Options :

To introduce the main research question

. 58888 soggREHD HBLcho Bc5nes
1.

To provide additional details that support the main text
- snggardsiors Efnﬁée‘fmriv ©idd) Hdored sl

To summarize the research findings

5888 Pt Holfsrorr Jcine ALNeL
3. %



To present the author's personal opinions

L% Bons 8RS grddeih aint oxoe

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
517144497
No

null

Question Id : 51714412186 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

115008 8ot mxabd Sirardo egrdore Q. 11&08 Q. 15 (Do Jirgrareen
larahod.

The Castle of Edinburgh is free (as appears to be the case with all garrisoned places in
Great Britain) to the entrance of any peaceable person. So we went in, and found a
large space enclosed within the walls, and dwellings for officers, and accommodation
for soldiers, who were being drilled, or loitering about; and as the hill still ascends within
the wall of the castle, we climbed to the summit, and there found an old soldier whom
we engaged to be our guide. He showed us Mons Meg, a great old cannon, broken at
the breech, but still aimed threateningly from the highest ramparts; and then he admitted
us into an old chapel, said to have been built by a Queen of Scotland, the sister of
Harold, King of England, and occupying the very highest part of the hill. It is the smallest

place of worship | ever saw, but of venerable architecture, and of very solid construction.

385208 8568 rodamdorr ¢od » HBBwe (HD¥o eddo ([T BOSED ey
588 HaTod ety )sad Do 908 3B, i Sde a8 Y Qerd)) Baso
©H5He Dararod, pIHe HH8I Srrdn, GS e &F) ot DY), w¥iE
8BIHHT) HOE0ED PIHD) Irarsm. B Y %o &) 288 ol Spdo 8
J57Em wHE af PR PIDED hdn 0D o800 &r ST DSDEoWHETED
odH Srd Irq) Db, a8 ) ard HBoAY Srdometh. o s Eﬁﬁé DBADE0N0H
S aéojﬁé Q8% (rerore {08 BBB0D SR God. B oS B8y s
@G HobBoE’E BhkhBgd. BV morol e Swoed A, FErol oo
0810DoBN Jaryth. g o Borfp ©&od I85 grred Doladod. b S
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Sub questions

Question Number : 11 Question Id : 51714412187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Thereis a inside the boundary wall of the castle
8% (5576 RPE &f¥e ok S08.

Options :



low hill

| % D) ot
steep hill

5 & B85 BPod
boulder

 potiurom

3. %
rocky terrain
oeey giomegeiio

4, %

Question Number : 12 Question Id : 51714412188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

There is a intimidating from over the lofty bulwark.
Q85 (arseore DS 08 2 BOHGHFEp Sod
Options :
cannon
L DB/

platoon of soldiers’
2% epodio

group of officers’
;. x @B ayoio

group of guards’

4w PO Skrdeo

Question Number : 13 Question Id : 51714412189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The old chapel is situated on the of the hill.

vt @ag@ Shobo B &ob

Options :

foot
L% ATV

ridge
5 % 00N

summit

BpbBo 8
3. ¢

surroundings

4% HB5oeedt

Question Number : 14 Question Id : 51714412190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author appreciates the chapel's
BSomes @ﬂgmﬁ shobdo ahog) R Nt

Options :

History
L S0

location

D00
2. % @

structural design
ﬁcﬂésa ErH8ensd
"/ Q@

ambience
SPEP B0

Question Number : 15 Question Id : 51714412191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The author visited the castle, as a

ESowd, o ek a8 ﬁotﬂ@dﬁoaﬂ&

Options :

tourist

L ﬁm&@é&m

historian
) = DO|Sseththre

soldier
BT

archaeologist

4 % Hovdd) KBS

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

3
517144498
Yes

null

Question Number : 16 Question Id : 51714412192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Being an communicator helps in resolving conflicts and

misunderstandings in communication.

Eﬂﬂvogméj éﬂ‘é@ﬁoéiﬁo@ﬁ HPcHHBID0B.
Options :

empathetic

L rndrane

inconsiderate
23805

2. %

émég}éﬁ}gﬁ“ &oéo Hed émgﬁéﬁﬁéﬁ DFmren HHB5



observant

) K&Dod
3. %
inconsistent
@t
4. ® TS

Question Number : 17 Question Id : 51714412193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Providing clear instructions and guidance for activities in a classroom is a

strategy for i communication
SB18 KHE® seisBerareoH R)alehd Hoediden pbain SrditEao wobodto
O30 ééﬁfﬂgﬁﬁéﬁﬁ &P a¥ HG3.
Options :
controlled

| & QohoBoladd

procedural
. APPRHBD

unintended
3 % N TGRAL
content
SR00 HBemd
4. % e

Question Number : 18 Question Id : 51714412194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being is a key to establish a genuine relationship with a
person whose linguistic and cultural background is different
grar S0Basn %voﬁggéﬁé ﬁéfﬁéo Hdore ey é&%&f’ SEHH Somorrdy

BB 5608 Ko o sedio deso

Options :




close- minded
Hodde é;?é*’mﬂj

1. %

open- minded

DF0 XJE et
2.

self- reflexive

fo&di} Slepnlehy
3. %

self- respectful
, ﬁ)&dﬁ) ietle]

Question Number : 19 Question Id : 51714412195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In order to have excellent decision making skills, a person needs to have
intelligence.

©tinddhd Aabo B0%3 Jevergein EOA somrewol, 2.8 2588
HEDH BODBeoen BowD.

Options :

social
FPHras

psychological
VRN

spiritual

@m@@@é

emotional

2,30553‘55

4.



Question Number : 20 Question Id : 51714412196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Radio and television are the examples of media
B&Ge 0B BOD=S S gEmes) GTRseSen
Options :
electronic

| v S

print
2 % Sl

i social
o

traditional
20|DTPAHE

Question Number : 21 Question Id : 51714412197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

8.4,4,6,12, 30,
Options :
75

1. %

95

90

105



Question Number : 22 Question Id : 51714412198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
EUILN, DWFPI, __ CXEQH, GSKJP

Options :

FTJKO
1. ¢

FUILM
2. %

EULIM
3. %

ETJKO
4, %

Question Number : 23 Question Id : 51714412199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word FRAME = 48 and HURDLE =74 then
FIGMENT= ? )
2.8 DO §6 2065 FRAME = 48 20050 HURDLE =74 H350 @@oan®
FIGMENT= ?

Options :
74
1. %
. 89
2. %
91
3. %
81
4.

Question Number : 24 Question Id : 51714412200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Shiva starts a business with an investment of Rs. 1,00,000. Pradeep joins him
after 3 months with an investment of Rs. 1,50,000. is the Shiva's share
in the total first year profit which was Rs. 51,000.

265 3.1,00,000 DEPDAS eSO [BrG0E)0Tr. (DAD 3 Tered HTP 5eb
5. 1,50,000 © 2enad& eSS Do . _ Inded 05180

Fndo €506 Fos e 5. 51,000 20 woe® 85 swér

Options :
21,000
1. %
5 % 20,000
27,000
3.
24,000
4. ¢

Question Number : 25 Question Id : 51714412201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A trader loses 20% when he sells a TV set for Rs. 12,000. The percentage he will
gain by selling it for Rs. 20,000 is

28 °5ard €3 RE ¢65°.12,000.8 e9020569 )60 20% SsdErddd. .
20,000 8 9502650 T ST° @650 SO0 erES FeH0. _

Options :

15%
1.

33.33%
2.¢

16.66%



25%

Question Number : 26 Question Id : 51714412202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Statements:
No village is a city.
All cities are states.
BSETATH WS
&) DBEFED SHG0 S,
@) TP T re.
Conclusions:

l. Some villages are cities.
. Some cities are states.

ST eN:
. §'a)) [(Pren iforen.
. £ SHiTren TP lalken

Options :

| follow
[l follows

Both | & Il follows.

Neither | nor Il follows

Question Number : 27 Question Id : 51714412203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 90 students, 60 opted Maths, 50 opted Science and 20 opted both.
How many students opted only Science?

90 508 DTeeNN) SEHBE 60 HOO S5, 50 SH0A S, 20
N0 BOAOE3D DOTNEIT®) . DOBDOE DITLEDEN T 0 5750
) OTNBT) B0?

Options :

20
1. %

30
2.

40
3. %

50
4, %

Question Number : 28 Question Id : 51714412204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
How is my son’s daughter’s sibling's mother related to my wife's only son?
2 T et 20y D8, 7 ez 2,8 S) S8y
BPOGI0 DNE3?

Options :
Sister

1. %

) % Sister-in-law
Wife

3. ¢
Aunt

4. %

Question Number : 29 Question Id : 51714412205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is signified by Udaharana of Anumana (Inference) in
Indian Logic?
& 180H57¢36S 2rBed0% 5653065 eisrd (DT Ge) TBwE) T e

SrDoHBs DO?
Options :

Statement of reason
% s°880 AT (BN

Proposition to be proved
DHHoSHOND HSarSD

2. %

Conclusion proved

Swhod Arhodalod
3. %

Universal proposition along with an instance
4 STPSTERS° artn T BE (DBaSS

Question Number : 30 Question Id : 51714412206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the right option
EMHS VE 0E O HOHNSE N0 HOAH OB 3D
NeIRVTole

a) Pratyaksha based on the perception of an object and Shruti based on
hearing.
2,8 290 CRNE), MTEA0 TGO (Hek5s, DAEE estrSorr (Hes.
b) According to the Naiyayikas, inference is of two kinds, namely,

Svarthanumana (Inference for one self) and Pararthanumana (Inference
for the sake of others).

O EON TV (0530, €33 DO O5°eD, @) & %gfmcﬁm (2.8
2368250 €2a7°) OO FTEHHT (VSHO THO 0TIT).

Options :



Only (a)
(a) S0

Only (b)

(b) 5753
2. %

Both (a) and (b)

(@) s 00 (b) DO
3.¢

Neither (a) nor (b)

. @ S (b)DOGT 52D

4.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

4
517144499
No

null

Question Id : 51714412207 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
He8: 180 295088 Addrerdo esrdomr Q. 31 c0od Q. 35 (d) 0%

IPETPED |0,
The following pie charts show the results of a board examination. Total number
of students appeared for the exam is 77.000

Bod D ©rfen S HOE HOTe rEron. HOE L FBBS o
Deder How; 77,000

Percentage dis ion of marks

= Failed (<35) = Third cla -50)
First Class{50-75) = Distnction (75-85) = Excellent{above 85)

= Second class{50-60)

Students who Failed in the exam 1n different subjects

P

= English = Second Language = Maths = Science = Social Studies

Sub questions
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How many students failed in Mathematics in the board exam?
S H85 S KBS0 D06 HOA Drrsden Do eoarstin?

Options :



46200

15400
2.¢

5 % 11550

4, % 5775
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If 10% of the students who appeared, got 100% of the marks in Mathematics,
then the number of students failed in Mathematics is how much percentage
more than the number of students who got 100% of marks in the same subject?
5523805 DTetHES 10% H0E HE3e506T 100% 570500 B IF0D), e
HBIES’ 100% SE0ze0 SV Deesher Hows 50D KedsoeS” pond
0NN DTS DOPE )OS T°H0 IBVL)?

Options :

50%
1. #®

100%

150%
3. %

4 % 200%
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If 10% of the students who failed in science were made to pass by giving 5
grace marks, 40% of them secure more than 85% of the total marks in the five
subjects as a result of these grace marks. The new number of students who got
more than 85% of the marks is

DS DONS o O 10% H0O Jersdden 5 (TR SISy en ad)
SaHeTher T, TOS 40% 206 & (FD Sty HOSOM HEH
JBEPS TS0 85% L0T DY S0 ED OO, 85% E0T) D0y
SrEen FodS darsder 5 Sows

Options :

L 4312

3214

1342

2314
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In the next year, the total number of students appearing for the exam increased
by 10% and the number of students who failed in social studies is what
percentage of the total students who appeared for the exam.

S0HE3 D055 1806, HBE B SFaEah; o Jorsdde Howg 10%
DOR0E SO0 FAS AAHS DANS @ond Do dows HOEH
330 050 DshereS Do TS0 Sod.

Options :

% 8 1/3 %

9 1/11%
o
3 % 10%

4 % 111/9 %
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The number of students who failed in Mathematics in terms of percentage is
50 DB KHede5063 0NS NS DO Hows
Options :
120

1. #

100

2. %

L % 60
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4.9
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What is the full form of SSD?
e N ) LRV y YY)

Options :
Smart State Display

Smart State Drive

2. %

Solid State Display

Solid State Drive
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An unsolicited email message sent to many recipients atonce is ........
©oirdE ® donen TG Trer Hob8 a8 Hohohnh

Options :

Virus

Attack
2. %

S
- pam

Memes
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Which of the following is a digital initiative for Robotics Qutreach Project.
6555&@3, 76565 @vé% &2 BIDBG a8 &8den J55

Options :

e-Vidwan
- DR

| % =] III"DS
e-Yantra

s B aholss
e-Kalpa
H- ey

3. % =

None of the above

239 5=
4. %
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Firewalls are used to protect a communication network system against ........
2.8 ol Je5B e BIDdS ol BEohe Dbarengih edrAodHt

Options :

Virus attacks
J6D orthen

1. %
Unauthorized attacks
) @NHs8 wethen
Data driven attacks
@ esebéd etsen
3. %
Fire-attacks
26 orthen
4, %
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URL stands for
ghe. @96, )5 edre

Options :
Universal Resource Location

Universal Response Locator

Unified Response Location



4 « Uniform Resource Locator
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Designing self-sustaining systems is a viable path towards long-term progress.
ég}sﬂ@ (S8, Jgabo JesE He HPHeorh EZH Basne

Options :

Irreversible and flexible
| x @ﬁjﬂ}%“%@ﬁj&, ERVE A

Reversible and flexible
(858" 0, g

Reversible and inflexible
3 % (BSGKeb, @306 0t

Immutable and unchangeable
SrENTAB. Hrt)BcHB

4. %
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Which of the following agents is responsible for turning the Taj Mahal yellow?
seEnseenid DD Sy SrByy H:ns)
Options :
Sulphur

| x K}@JE

Chlorine
, % 865



Sulphur dioxide
Senb @ ©w8)&
3.¢

Nitrogen dioxide
=S g )6

4. %
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Why wind energy is considered a conventional source of energy?
md ¥80 dothded Sol@rmrahE 48 Sthre grdoRtth?

Options :

as it can rotate a windmill

@b rd dholerd)) S0 Heth
1. ®

as it can help in lifting water
©8 DB 28 HoHres
2. %

as it is readily available and used for a long time
©b Bot3 BEHDH. Hsreo s5BrRoBHLND.

As it is produced due to uneven heating of the Earth

L% 28 eddmdore ﬁéé}é&) DOH @b ﬁé;ﬂ TaVY
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International Day of Natural Disaster Reduction is celebrated on...........
805 DB SRoD @oétr&gécﬁj BHED BtHE TE% e

Options :



June 15

a~n 156
1. %
March 5
- 5’330613 5
October 13
3 ¢ ﬁ_—ﬁgﬁmiﬂj 13
September 13
Haoat 13
4. & i
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In which year the National Environment Protection Act was passed in India?
508056 erfoh rerdtes B8 5&;&& ©:00S00N Do Bo?

Options :

1974
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Which is the first Open University in India?
B0&CTE® FnsB FBYBE DY DEgOcHED

Options :



Andhra Pradesh Open University
e30SHBS FBYBE DD SDHED

Yashwantrac Chavan Maharashtra Open University
dhHHes ool SDHS éﬁ.}ﬂoﬂlé PT(BE DHRDogechHdn

2. %

Indira Gandhi National Open University
N 20800 o &% PSS DB DTgedHn

Nalanda Open University

L doome FEYSE HEDoohEn
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What is the full form of ABC as per the NEP 20207
NEP 2020 [giz8ein ABC @&

Options :

. Academic Basic Certificate.
1.

Annual Basic Certificate.
2. %

Annual Bank of Credits
3. %

Academic Bank of Credits
4,
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The purpose of value education is best served by focusing on...
& (Bob D §T A3 Dend DSy G 6T I I5HEHob

Options :

Cultural practices prevailing in the society.
Horesing? &) FopsE eltmen

1. %
Norms of conduct laid down by a social group
5 % &8 Hires DIEEFEN 2HH VEHE DAHEnH?
Concern for human values.
- S8 Denderd eo&2EH
Religious,moral practices and instructions
L 50, B e358eren, estizoen

Question Number : 49 Question Id : 51714412226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The best way for providing value education is through?
Dend DY ©oBoHeE HHAD DL

Options :

Discussions on scriptural texts
-~ lE~é Hogrop S8

Lectures/discourses on values
) % DeNdOP GNP, [HRorren

Seminars / symposia on values
DenNe 2 DSyEn/ HB%E‘_D

Mentoring / reflective sessions on values

. Dendo D & B¥/ 1H8Doa SEraaen
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The full form of SAMVAY is......
SAMVAY ?‘.g;.v_én BEaw

Options :
School Assessment Matrix for Vocational Analysis of Youth
1. %
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Which of the following represents the order of electronegativity.

Options :



« F>CI>N>0

F>0>ClI>N

F>0>N=a~Cl

F>CI<N=>0
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Which of the following statement is correct regarding the non-metallic nature in the
periodic table.

Options :

Increases from Boron to Thallium

) % Increases from Caesium to Lithium

Increases from Boron to Fluorine
3. ¢

Decreases from Fluorine to lodine
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What is the nature of the bond formed between BF3 and NH3 molecules?

Options :
L% ionic
covalent



co-ordinate
3. %

hydrophobic

4. %
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Which of the following statement is not true concerning the lanthanide contraction?

Options :
Separation of lanthanides

Anomalous behaviour of post-lanthanide elements
2. %

High density of post-lanthanide elements
3. %

Lutecium complexes are less stable than other lanthanide complexes
4.
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Compared to d-d absorption bands the f-f absorption bands of lanthanides are very
sharp due to ...

Options :
Strong interaction between f-orbital electrons and ligand field

1. #

Poor shielding of 4f electrons by the 5s and 5p orbitals

2. %

Weak interaction between f-orbital electrons and ligand field
3.¢



Same number of f-orbital electrons
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The donor atom of a soft ligand belongs to the following period.

Options :

1st
1. #

Eth

2. %

znd

3rd
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According to HSAB theory, which of the following acid dissociates easily?

Options :
HCI

1. #

HI
2.

HBr

HF
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TICl3 is unstable but TICI stable due to the following reason.
Options :

increased Lewis-acidity

Inert-pair effect
2.¢

high-electropositivity of Tl
3. %

increased Lewis-basicity
4, %
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The following molecule exhibits polymorphism.

Options :
Ceo

H20

graphite

cellulose
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The following element is a main-group element.
Options :
Ta
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Metal complexes of the following element are used as MRI agent

Options :
Pt

1. =

, » Ce

Rh

3. %

4'¢Gd
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Rare earth metal ions are separated by the following technique.

Options :

lon exchange chromatography
1. ¢



TLC

HPLC

3.%

paper chromatography
4. %
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Which of the following spectroscopy technique used to distinguish the M-SCN and
M-NCS bonding metal complexes.

Options :
NMR

Mass
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The following combination of metals is considered as catalyst in Ziegler-Natta
polymerization.

Options :
Pd, Cu

1. %

Fe, Mo

2. %



Pd, Zn

Al, Ti
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The following element can be used for molecular hydrogen (Hz) storing.
Options :
Ti

1. %

Pd
2.
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Auranofin is considered as the following drug.

Options :

Antirheumatic
1. ¢

Anticancer
2. %

Antibacterial
3. %

Antimalarial
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The Mollusca blood is blue due to the formation of following metal-ligand bond

Options :
Cu-0
1. ¢

Fe-O

Co-0

Zn-0
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Which of the following rays has no charge?
Options :

Cathode rays

Alpha rays

2. %
Beta rays

Gamma rays
J
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The complex [Co(NHaz)s]** exhibits the

Options :
L Diamagnetism

Paramagnetism

Ferromagnetism
3. %

Antiferromagnetism
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According to molecular orbital theory, the number of anti-bonding electrons present
in NO and CO are respectively.

Options :
1. B
1. v

22

3, 2

Z; 3
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The following is an acid catalyst.

Options :



CalO

1. %
zeolite
2. ¥
N-heterocyclic carbene
3. %
A dimethyl aminopyridine
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Walker's process is used to produce the following organic compounds
Options :
Alcohols

) % Alkanes

Amides
3. %

Aldehydes
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The following metal ions are found in Super oxide dismutase.

Options :
Zn(I1) and Ni(ll)

Cu(ll) and Zn(ll)



Ni(Il) and Co(lll)

Cu(ll) and Fe(lll)
4. %
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The cluster [Os3(CQ)12] has the following type of structure.
Options :

L% closo

nido

3@ arachno

hypo
4. %
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Which of the following d-electron configuration of a transition metal shows spin-orbit
coupling?

Options :

'Izgu Egn
1. #

tzgﬁegﬂ

tQQSEgz



tzgd'EQD
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What is the order of the reaction in SN'CB mechanism?
Options :

Zero

third

2. %

first

second
4, &
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Why [Co(H20)e]*2 is stable than [Co(H20)e]*2 ?
Options :

lower CFSE

1. =

lower lattice energy
2. %

higher CFSE

higher heat of hydration
4. ®
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Trans effect of the ligands which are not able to form metal-ligand =(pi)-bonds
increases with the increase of their ...

Options :

Bond angle
1. ®

polarizability
2.9

nucleophilicity

electrophilicity
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Which test is used to distinguish the cis and trans-isomers of [PtA2X2] (A = NH3, X =
halogen or pseudohalide)?

Options :
Lassaigne's test
Kurnakov test

Kelling's test

Flame test
4, %
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An example of o0& 11- bonded organometallic compounds.

Options :

R-Mg-X

(CsHs)z2Fe

Cr(CO)s
3.9

(CsHs)Na®
4, %
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Among the amperometric titrations, the titration between chloride anion and silver
cation is called...

Options :

Reducible ions vs non-reducible

1. ®

- Reducible ions vs reducible ions

N Non-reducible ions vs reducible ions
Redox titrations

4, %
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Dimethyl glyoxime reacts with Ni*? ions and forms the bright red-colour precipitate
in the following medium.

Options :

Ammonical
1.9

acidic

alkaline

pure agqueous
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The products A and B for the given reaction
[Co(NH2)sCI]* + [Cr(H20)6]"? + 5H30" —A+B are respectively.

Options :

[Co(H20)sCl]* , [Cr(H20)6]*?

[Co(NHz)s5(H20)]*2, [Cr(H20)5CI] 2

2. %

[Co(H20)6]™2, [Cr(H20)sCI]*?
3.9¢

[Co(NH3)sCI]J*, [Cr(H20)8]*
4. %
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Which of the following is acceptor molecular orbital (MOs) on CO molecule?

Options :

.}le
1. ¢

Gi’
2. %

G!n
3. %

.Hih
4, %
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Clausius inequality indicates
Options :
dq

ds = —
1. i

J‘dﬁlrev 21
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The rate constant is tripled by a 10 °C rise form 295 K to 305 K. The activation
energy ( in kJ mol) of the reaction is (R = 8.314 J mol"K'; log 3 =0.477)

Options :

32.18
1. ®

100.2

82.18
3. ¢

38.12
4, %
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AG = AH — TAS and [d% = —AS. The enthalpy of cell reaction, AH is then given
by
Options :
dE
x [ﬁell i Ec&H
1. %
dE
e [E““ N T( df'I'E")p]
2.¢
dEcen
3 [T( dT )p N ECEH]
3. %
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The point group symmetry of the staggered form of ethane molecule is
Options :

Cav

Dad

Dsh

Da
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What will be theoretical number of vibrational degrees of freedom in benzene,
carbondioxide and sulphurdioxide respectively?

Options :

12,4, 3

3,4,12

30, 3, 3

30,4, 3
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In which set of diatomic molecules/ions. the bond orderis 2.57
Options :

NO, CN, CN-

1. #

Nz*, NO, CN
2.

02", N2", CN*

Oz, NO°, CN-
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The main buffer system of the human blood is
Options :
NH2CONHz — NH2CONH3*

CHsCOQH - CHiCOO-

2.9

H2C0O3-HCO3-
3. %
43 H2CO2-CO2*
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Graphene is a
Options :

Wide band — gap semiconductor

1. %
zero-gap semiconductor
2. ¥
insulator
3. %
A narrow band — gap semiconductor
4, ®
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For centrosymmetric molecules, any vibration which is IR active is Raman
inactive vice — versa represents

Options :
Frank — Condon principle
1. %
. Doppler effect

Stark effect

Mutual exclusion principle
4. ¢
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The coagulation of 10 ml of colloidal solution of gold is completely prevented by
addition of 0.025 g of substance ‘X’ to it before addition of 1 ml of 10% NaCl
solution. The gold number of X' is

Options :

25
1. ¢

0.25

250

2.5
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The emf of the cell in which the following reaction,
Znis) + Ni* o= ZnZom + Nis)
occurs, is found to 0.5105 V at 298 K.

The standard emf of the cell is

Options :

0.5400 V
1.

0.4810V

0.5696 V
3. %

-0.5105 VvV
4. %
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The molar conductances of NaCl, HCl and CH3COONa at infinite dilution are
126.45, 426.16 and 91 ohm™ cm? mol' respectively. The molar conductance
(in ohm™ cm? mol ") of CHaCOOH at infinite dilution is

Options :
201.28

1. %

390.71

698.28

540.48

Question Number : 97 Question Id : 51714412274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The ground state atomic term symbol for d° configuration is

Options :

2Dap

4Fg
2. %

2Dsp2

1 1S
4, %
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Polydispersity Index (PDI) of polymer gives an idea of homogeneity of the
polymer. The PDI is estimated as

Options :
bl
Mp
1.«
M. Mn
2. %
i
My
3. %
Mw = Mn
4, %
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The Fermi level for an extrinsic ‘n’ type semiconductor

Options :
Lies mid-way between the valence band and conduction band
1. %
Does not exist
2. %
Lies towards the valence band
Lies towards the conduction band
4. &
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The closeness of data to other data that have been obtained in exactly the same
was is

Options :

| % Accuracy

Absolute error

2.
; Relative error
4 Precision
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Match the following terms with correct sentences

List -1 List-ll
1. Qutlier a) Measures the systematic error
associated with an analysis
2. Bias b) Affects the accuracy of results
3. Systematic error or Determinate error c¢) Colour blind analyst doing volumetric
analysis
4. Personal errors d) An occasional result in replicate

measurements that obviously differs
significantly from the rest of the results

Options :

1-(@) 2-(b) 3-(c) 4-(d)
1. %

1-(b) 2-(c) 3-(a) 4-(d)
2. %
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=3

a= 3 ; ;
When the operator —h* = operates on the wave function e~***, the result is
Options :
kz hze—ikr
I

ikzhze—ikx

2. %

ihze—:'kx
3. %

hze—fk.x
4. %
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Orbital having 3 angular nodes and 3 total nodes is

Options :

4f
1. ¢

6d

5p



3d
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Given a trial wave function W, = C,0, + C,0,and the Hamiltonial matrix elements,
[0iHO,dv =0, [ 0]HO,dv = 2.5, [ 03HO,dv = 12 the variationally determined
ground state energy is

Options :

-0.52

-0.50

12.50

12.52
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The number of microstates corresponding to the atomic term symbol F is

Options :
.7
1. *
12
2. %
28



42
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The ion having the highest bond order is

Options :

NO*
1.

02"
2. %

N2*
3. %

Co*
4. *
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The point group symmetry of the molecule cis — MLsXz is

Options :
Car

1. %

5 % Dah
Czh



Cav
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If the component of the orbital angular momentum along the molecular axis of a
heteronuclear molecule is non zero, the rotational -vibrational spectrum will show

Options :

P and R branches only

P and Q branches only

Q and R branches only

All the P, Q and R branches
4, &
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The molecule that will not absorb in the microwave region, but will absorb in the
infrared is

Options :

N2

CzH2

HCI



H20
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In thermodynamics, which of the following statements is true?
. Work is a path independent function
. Work is a path dependent function

. Work is the area under the curve in a PV diagram

IV.  Work and heat energy are completely interchangeable

Options :
| & IV
1. %
| &Il
2. %
I, & 1V
3. %
I &1l
4. &
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Joule-Thomson coefficient (u,;)of ideal gas is

Options :
v Hr=0
Hr =10
2. %
r=-10

3. %



15y = = (infinity)
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The partition function corresponds to a one-dimensional simple harmonic
oscillator having equispaced energy levels with energy spacing equal to 3keT
and Eo=0 will be

Options :
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The ionic strength (i) for a 0.1M AIClIs will be

Options :

0.2



0.3

2. %

0.6
3.

0.9
4. %
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Which of the following is true about Michaelis — Menten kinetics?
Options :

Km, the Michaelis constant, is defined as that concentration of substrate at
which enzyme is working at maximum velocity.

1. ®
Km is defined as the concentration of substrate at which enzyme is working at
half of maximum velocity
2.
Km is defined as the dissociation constant of the enzyme — substrate complex
3. %
It assumes covalent binding occurs between enzyme and substrate
4, ®
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The overall rate of a reaction is determined by

Options :

Rate of the fastest intermediate step
1. %



Sum total of the rates of intermediate steps

2. %

Average of the rates of all the intermediate steps
3. %

Rate of the slowest intermediate step
4.
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The unit cell of a certain type of crystal is defined as three vectors a, b and c.
The vectors are mutually perpendicular, but a = b # c. the crystal structure is

Options :
Triclinic

1. %

- Tetragonal

Orthorhombic

Monoclinic
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The name reaction involved in the following conversion

OH
S P20s
| e HN\H,R
O

Options :

Schilittie-Muller Isoquinoline
1. %

Pomeranz-Fritsch Isoquinoline synthesis
2. %

Pictet-Gams Isoquinoline synthesis
3.¢¥

Pfitzinger Isoquinoline synthesis
4, %
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A Friedel-Crafts reaction of an arene with succinic anhydride is followed by
reduction and an additional intramolecular Friedel-crafts reaction to give
tetralone. Such entire process is called

Options :
Haworth reaction
1. ¢

Herz reaction
2. %

Hetero aryl Heck reaction



Hiyama cross coupling reaction
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The major product obtained in the following schemes | & |l respectively

flh\/ﬁﬂ./Cg_HEDH or H,0

product of scheme I
Scheme |

Se0,;

/ w0

Scheme |l

=  product of scheme [1

Options :

OH OH

product of scheme | product of scheme ||

?:/7 & _.;l'DH

OH

product of scheme ||
product of scheme |



HO, HO.,
%% .

product of scheme | product of scheme |l
3. %
HC OH
HO‘>_)7 &
product of scheme | product of scheme
4, %
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The suitable reagents used in the following conversions respectively
) —— O

= =
/ I

E/\” II CLGH

~ OH
OH 0
6H 0

() DDQ, CsHs (1) OsOs, Py, THF (Ill) Pb(OAc)«
1. ¢

Options :

(1) Pb(OAc)s (Il) OsO4, Py, THF (IIl) DDQ, CsHs



() TIOAc, I2, AcOH/H20, NaCH, H20, EtOH (Il) Pb(OAc)a(lll) DDQ, CeHs

(1) TIOAC, l2, ACOH/H20, NaOH, H20, EtOH (1) DDQ, CsHs (I11) Pb(OAC)s
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Which of the following statement is correct
Options :

Triaryl methyl cations are propeller — shaped, it can be investigated by *C
NMR spectroscopy

I
Triaryl methyl cations, in which the benzene rings can be all in the same
plane and can be investigated by PMR spectroscopy

2. %
Triaryl methyl cations are pyramidal, it can be investigated by PMR
spectroscopy

3. %
Triaryl methyl cations, in which the benzene rings can be all in the same
plane and can be investigated by *°C NMR spectroscopy

4, %
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Which of the following pair of carbocations cannot exist

Options :



®

Dr = &y
@ e

1. ®

@

)@
3. %
H
X9
- ik
E—"il;‘n. and '{\:Lu.’
4. '
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The major and minor product obtained in the following conversion and their
relation ship

OLi PhCHO OH O OH O
e =
-78 C° =
(1) (11)
Options :
Products are enantiomeric, (1) is major and (I1) is minor
1. %

Products are enantiomeric, (l) is minor and (I1) is major
2. %



Products are diastereomeric, (1) is major and (ll) is minor
3.¢

Products are diastereomeric, (1) is minor and (ll) is major
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The major product of the following reaction.
OAc Me Me

Li, NH3, ether
» major product

Options :
OH Me Me
e o
Me
Me
1. %
OH Me Me
| e s Me
Me =
2.9
oH Me Me
Me
Me

3. %
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The correct statement(s) for following conversion

¥ /solvenl

f"i A =  Major product

Options :

If the solvent is neutral/basic, the Y -attacks at C2to produce its major product
1. ¢

If the solvent is neutral/basic, the Y - attack at Cito produce its major product

If the solvent is acidic, the attack of Y takes place at only C1 with retention of
configuration

If the solvent is basic the attack of Y takes place at only C1 with retention of
configuration
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Only one signal is appeared in the 'TH NMR spectra of

Options :



Ethanol, 2,3-Dimethylbutane

1. ®

- 2,2- Dimethylpropane, 2-Butyne
2-Butene, Ethoxyethane

3. %
1-Butyne, Methoxymethane

4, %
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An organic compound having molecular formula C1ioH14 exhibited two signals in
'H NMR spectrum and three signals in '*C NMR spectrum. The structure of
compound is

Options :

1. ®

2. %

A
-

P

3.¢



PN
rL,J\
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Among the following, which of the series contains all aromatic compounds?
Options :

Pyrene, acenapthalene and fluoranthene
I

Acepentalene and dibenzopentalene

2. %

Acenapthalene, anthracene and acepentalene
3. =

Fluoranthene, dibenzopentalene and Dewar benzene
4, %
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The type of reaction and product obtained in the following reaction

Me 9 Me iy .

-

3

Options :



Concerted reaction . product is
Me

=, M
H>_\={ )
1.¢ "

Concerted reaction , product is

o,

Me

Non concerted reaction . product is

Non concerted reaction . product is
Mle

H)=\2<H

Question Number : 130 Question Id : 51714412307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks :

The reaction conditions and mode of reaction in the conversion of butadiene into
corresponding bicyclobutane

Options :

hv/Tr?s + T14a
AT + T

hv/Trs + s
3. %



AITTes + 1123
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The IUPAC name for the following compound
5., _H
r N
Sl
Options :

2H, 4H-1,5,2-dithiazine

1. %

2H, 6H-1,5,2-dithiazine
2.9

1,3-dithio-4-aza cyclohexa 4 —ene
3. %

1,3-dithio-6-aza cyclohexa 4 -ene
4, %
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An early name for ethylene was
Options :

Ethene

1. %

Formine



Olefin

Gazolefiant
4. %
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When either Anthracene or Phenanthreneis allowed to react with a reagent such
as Ozone or Bromine, the reactant loses the 9&10 bond by attack of the reagent,
the reason is

Options :

Both are planar molecules
1. %

Both are aromatic molecules

Two complete benzene rings remain after the reaction

9 and 10 bond(s) weak
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Which of the following order is correct towards reactivity for formation of Diels
Alder Product?

Options :

Furan > thiophene > pyrrole > benzene
1. %

Pyrrole > thiophene > furan > benzene
2. %



Benzene = furan > thiophene = pyrrole

Furan = pyrrole > thiophene > benzene
4. ¢
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Choose the correct statement which related to reaction feasibility of following
schemes - I & II.

scheme-|
O
aih i
+ ‘ - o
-78 °C
scheme -l
\ 0O [
8] R y 1\ " JJ\ J:\T Me
A Me R =H) R
Me | Me
Me

Options :

Scheme-| is not possible but scheme-Il is possible.

1. ®
Both Schemes are not possible
2. %
» Both Schemes are possible
3. s

Scheme-| is possible but scheme-ll is not possible
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When benzene is allowed to react with propene in the presence of strong acids
like HF, the resulted major product is

Options :

1. *
?;_:“x]/"“‘x
< |

2. ¢
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Choose the correct option(s) in the following statement(s) -I.11& III.

Statement- |: - The quantum yield for formation of any specific product may or
may not be as same as the quantum yield for the decomposition of starting
material.

Statement -ll:- In the excitation energy transfer , the resonance energy transfer
can occur when the absorption spectrum of the acceptor overlaps the emission
spectrum of the donor.

Statement-lll:-In the following reaction, no products of Norrish Type — |l photo
elimination are observed.

0 : HO
I A _re oM -~
”'F;%f_f“f (RE&RY=H - |
R® R? R' & RZ = Me) R

Options :

Only statement |Il are true

1. %
Only statement [I&Ill are true
2. %
Only statement |&lll are true
3. %
All the statements I, [1&lll are true
4.
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Which of the following molecular shape is more stable with [R],[R ]Jconfiguration
at respective chiral centres

Options :



2.9
L\"“—""\
Teﬁa—i
3. %
4, ®
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As per the IUPAC the position of the nitrogen hetero atom in Isoquinoline

Options :

2" position
1. ¢

3" position

1%t position
3, %

7' position
4. %
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Correct Marks : 2 Wrong Marks : 0

Furan on reaction with ketone in the presence of acids and perchlorates,
produced major product . Identify this major product

Options :

/2l ®
.=t

1. %
Y
k!
an
__ g ¥
2. %
Cyclic tetramer
3.¢¥
R
4, %
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The major product of the following reaction [MIP= Methoxy isopropyl]

A _OH OMe

oy
& —0, 0OBn =
HO——/~ TsOH, 24 h, 94%
HO

Options :

OMIP
& rD OEn

__/;___C]



HO
2.9
|
o/\c‘
& -0 0Bn
HO—~—T—
PIMO
3. %
PiMo  -OH
%—1-0_ 0Bn
DL:-:{“--L/
._j____.o
4.%
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The IUPAC name of the following compound is

L

Options :

3-cyclopropylbutane

1. ®

3-Isobutyl cyclopropane
2. %

2-Ethyl,2-cyclo propylethane
3. %

2-cyclopropylbutane
4.
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The most populated and stable confirmation of butanone molecule.

Options :
0 ]‘“‘”
AN
A .'
AP
Me
} lorsion angle af ©
1. v
o H
H ~Me
e
lorsion angle of 120°
2. %
o
H -
~
\ HI— Me
7t -
H
Me
torsion angle of 907
3, %
o]
H -t -H
S 7/ \ -
| |
1
\_J( /
Me
M
4 % torsion angle of 1807
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In the following reaction the major product

H H i !r"\ 3

H,C {; (.F CH, : - ? major product
D OTs

Ervthro-isomer

Options :
CHj
HEC\%\H
D
1. %
CH4
H
1iC.= H
2. % 2

I' CH3
3.9 °
H
HSG\I,-y'
CHs
H
4. %
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The maximum number of cyclic dipeptides produced when two amino acids are
allowed to react.

Options :

Three
1. v



5 % Two

One only
3. %

Four
4, %
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The number of chiral centres present in cholesterol molecule.

Options :
Seven

5 % Six
five

3. %
Eight
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Match the following drugs with their medical activity
List-1 List- 11

i) Oxamniquine (a) ACE Inhibitor

ii) Enalaprilate (b) Solbutamol

iif) Anti asthamatic (c) Antiulcer

iv) Cimetidine (d) Schistosomiasis

Options :

(@ni  (bHiv  (C)iii  (d)-i



2. %

(@-i (byii () (d)iv
3. %

@ri  (byiii  (c)iv  (d)-i
4.
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Choose the correct statement from the following

Options :

Furfuraldehyde can exist in transoid form in liquid state but changes to cisoid
form in gaseous state

I
The 'H-NMR Spectrum of M-gauche and P-gauche conformations of
2,2.3,3-tetrachloro butane are different

2. %
The two methyl groups attached to nitrogen in N,N-Dimethylacetamide are
identical for PMR spectrum at room temperature

3. %

Anti-conformation of 1,1,2.2- tetrabromoethane is more stable than

gauche at room temperature
4. %
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In 1-methyl 1-phenyl cyclohexane, the preferable conformation is

Options :



H
H==C
b
M " HH
H
2. %
i -H
l-l---r.'\‘
H HH
H
H
3. %
4. %
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The percentage of atom economy will be greater in the following type of reaction

Options :

Substitutions and eliminations

Additions and intframolecular rearrangements

Substitutions and additions



Eliminations and intermolecular rearrangements



